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2| 2606[3iH EEE_/\FR 6| [14.78 2] 290110 &% 54X R C 6 15.08
3 _1104[ETF Bk EEUED) 6] [15.02 3131110 84 TIFKSRC 6 15.11
4| 61901 |@%F B s#Y1=7 3 6] [15.06 B[ 4] 1305/ =z USHEKSC 6 15.49
5] 2702|It7~<AH FH [Svobod5—F 6] [15.34 0.0 [_5] 2702[=\L =ABR [Sv oI5k 6 15.50
6] 1121[/NI AR HRJ 6] [15.49 m|_6| 1216[#AE AW HiEAC 6 15.69
18198 &-F FULELYSJ 6] |DNS 7] _1121[IBF &K HRJ 6 15.80
71 1| 100020 BE EAS1-) 6 13.70 8| 1| 1J00/%&H W= EAS1 T 6 14.02
2] 1121[AN BR% HRJ 6] [15.12 2] 1305[&BH EX USHEKSC 6 15.57
3] __1605|HH 1= FAJ—FRyk 6] [15.34 3] __1305|%H BAB |USHEKSC 6 15.77
4| 1228|EMHE F= 10015>&5>~ 6] |15.58 m[_ 4] 1201[E@ & WHY1=7 6 15.79
5] _1228|/\i& Tl 10015 &5y 6] |15.71 0.2 5| 1216[@8 BXA AiEAC 6 15.83
6] 1121%K% B&E HRJ 6] [16.26 m|_6| 61901|H =& 1= (D6 16.06
7] 1217|5H — RAAC 6] [16.97 7] 1704[0E L8 BI5xC 6 16.47
9| 1| 61916|5HM Hb BehE—_ (0 _ 6] |15.35 10 1| 1104|Bl 5% EELED) 6 15.23
2] 1311[#% A% TEFKSRC 6] |15.66 2| 62601[RM &t A—J(R) 6 15.63
3] 61916|K8 &Rk E¥REE_ (= 6] |15.85 3] 1216[M%F &=t BEEAC 6 16.41
4| 61901it%H B s#v1=7 (6]  [16.49 e 4] 61916[HF IEE EX¥RE— (D 6 17.13
5] 1311[{kRE Ak ZEFKSRC 6] [16.71 2.6] 5] 61901t = #1726 17.33
6] 1704[%E v/ B5IC 6] [17.13 m|_6] 1311 %A— = TEFKSRC 6 17.37
7] 2702[#K SERk SvoESI5—k 6] [17.38 1216[/ ﬁkfn AEAC 6] _|DNS
=] & | K % i e
1| 1217[%EH =k ZAAC 6 13.40 2.1
2 | _1605[AI L& FA)—FRyk 6]  13.43 +2.1
~ [31 27028 #@4am S PF—K 6] 13.63 2.1
2[4 1104[%E& EE EEEP) 6]  13.66 2.7
b 5] 120020 B4E EX>1—7 6] 13.70 +0.7
8 [ 6| 61903[AH [ »PCTI—T(R) 6]  13.91 +2.5
7 | 1104|MA miE EEUED) 6] 13.93 2.0
8 | 1216[AK B HiEAC 6]  13.94 2.7




KRR 5 2@ EE$% 2 RESULT20170514

A4FZF 100m
| I8 | K é PE%® £ iH e &HFS EE % g% =¥ SCEK
1 1 LA B= REpU1_s (=) 4 14.53 2] 1] 1121|=m 85& HRJ 4 15.75
2 NI D RES1=7 4 14.83 2| 2702|RAR = SvIES T 4 15.78
3 )l & SVE-914 (& 4 14.88 3 2702[lLA FE SvIE 05K 4 15.89
Bl 4 AR 2 SLE-9A () 4 15.38 B[ 4] 1203[giH = HEAC 4 15.94
2[5 EE 28 REU17 (R) 4 15.40 0.8]_5[ 61901[%FH &L =#>1=r 0 4 15.95
m|_6 EIIE T HRJ 4 15.45 m|_6] 2808[KFH {_if AIEIEE S 4 16.04
7 A Fix SVFE94 (& 4 15.61 7] 1217|%EF <3k ZAAC 4 16.06
8 I = SE—A (&) 4 15.68 8| 61901 BiE  [m#vi—ry () 4 16.15
31 NI REpU1_s (=) 4 15.93 4| 1| 61901| AR =0k |m=#v17 ) 4 16.41
2 BE e R AESRC 4 16.29 2| 2812|EM BF SHRIAC 4 16.42
3 MBE &P |[9hF—911 &) 4 16.32 3| 61901|K&E AL =#HI1=r ) 4 16.59
Bl 4 N ] SVFE—A (&) 4 16.35 B[ 4] 91303[FRE /s SVE—v1 (&) 4 16.85
5[ 5 2R TE RENTvT) 4 16.38 2.0 [ 5] 31101[EH B& =0{CAC(FD) 4 16.97
m[_6 A PE EI7vT) 4 16.62 m|_6] 1605(#E EZHF F7AU—hrwbk 4 17.17
7 5%?%5; 2 Sv 95—k 4 16.77 7 1216[4E 3% J%Tigc 4 17.24
8 i —7E 4RSI EISTE) 4 17.03 1602 jgé ] SRAJESRC 4 DNS
51 ii%tlj a5 TRAZESRC 4] [17.10 6] 1] 1305[&R 1A UShEKSC_ 4 16.00
2 =M ooh  |[RAS1ZT 4 17.20 2] 1605|ZEMA &2z [7XU-bxvb 4 16.92
3 Wl EHE |[HREAC 4 17.37 3 1121[KEF =4 HRJ 4 16.98
Bl 4 TiE =% Sv BT 4 17.47 B[ 4] 1305|%E W USNEKS C__ 4 |#116.98
1[5 ZE G =#o1=7 0 4 17.49 2.8] 5] 61901[Li #@4c =#Y1=7 0 4 17.15
m|_6 NEE=S JXEAC 4 17.51 m|_6] 1120[#0H 99 ELyEDvi 4 17.16
7 B & =#o1=r 0 4 17.68 7 12171 BS FZAAC 4 17.49
8 £2 (X HRJ 4 18.04 8 11215 @we HRJ 4 17.94
71 POy S EEbE_ /R4 16.86 8| 1| 61901 |#IH #&XIFB |=#>1-7 (%) 4 16.90
2 i Xicg |[=2hxtyT 4 17.29 2| 1228|ZH FD# __ [10015>&5~ 4 17.04
3 B X5 EXT1=7 4 17.48 3| 1401|%&HA 85 EEELEIST 4 17.27
Bl 4 AT BR WEHS1=J 4 17.54 B\ 4 112110 (0MdE HRJ 4 17.46
5[ 5 Tk fTLE |[RIMNTYTI 4 17.66 0.8[_5] 82701 milll JI== I-1—JAC = 4 17.63
m|_6 AT UShEKSC 4 17.77 m|_6] 1201[HEF 5B WREHS1=7 4 17.72
7 I NE T EEbE_ER 4 17.82 61916 (R80T LE E¥RE- (2 4 DNS
EEES —EAETRF(R) 4 [opn]17.33 619161144 1y EFBE_ (R) 4 DNS
o 1 BN a =Yl 4 16.62 10[_ 1| 61903|=—& &% Hoco17(R) 4 16.71
2 AR BE [10015&5> 4 17.29 2| 61910|F9H &% SaRBEL(R) 4 16.83
3 EISEEES FEBE_/NVER 4 [28917.29 3 1618|&k%& MXHEBF |[AERERE 4 17.42
Bl 4 [ e 10015°&5> 4 17.43 B[ 4] 61903[F = HPCT1=7(R) 4 18.22
0[5 ILA EBET [HRAC 4 17.48 1.3 5] 1228[FH —1t 10015>&5> 4 18.25
m|_6 Bkt EEE BARI1Z7 4 18.03 m|_ 6] 1702|=# E EI7vTIL 4 18.39
7 Bt B SRAESRC 4 18.13 7] 1705|=4& Hl REJSAMI—Z 4 18.53
8 DA foE EEE_IFR 4 18.78 61237|1+H —1E —ZWILTRF(GR) 4 [oPN[18.27
11 ;%_EH e I (R) 4 17.16 12| 1| 1228|/\g mAE 10015&5> 4 18.62
2 EER —1% 10015>&5> 4 17.42 2 1201|515 = WHS1=7 4 18.93
3 A% mm ZARAC 4 17.81 3] 1305|7&E BRIK USHEKSC 4 19.15
Bl 4 W B EEE_N\FR 4 18.17 B[ 4] 61916[EE = EXRE- 0 4 20.09
9 5 Hi #5% AEAC 4 19.55 1.9 5] 1216/ _FiF AEAC 4 21.23
m|_6 IIA B RAESRC 4 19.64 m{_ 6] 1311k Wo=  |BFKSRC 4 23.08
gl HE —&IdETRF(R) 4 |opn[18.57 61916|AH = EERE- () 4 DNS
= | K = e P ix )
1 LA B= =Eo1-s (0 4 14.53 +3.2
2 XEI By |RAS1ZT 4 14.83 +3.2
N | 3 )l 3ER IE-v11 () 4 14.88 +3.2
2[4 HH 2 SUFE-91 (&4 15.38 +3.2
b L5 EE =18 REC1-7 (R) 4 15.40 +3.2
8 |6 EIITE HRJ 4 15.45 +3.2
7 LA Fix SVFEA (& 4 15.61 +3.2
8 A EF SlFE-91 (&) 4 15.68 13.2




KRR 5 2@ EE$% 2 RESULT20170514

4FBEF 100m
] I | I FE& = SOER iH TN | = K £ PES 3 soEx
1 1 g T SvoES 05—k 4 14.84 2 1] 11210100 /55K |[HRJ 4 15.53
2 XA BE IF-0I1 (&) 4|=914.84 2] 12038 & HEAC 4 15.56
3 A TRl [SvoEds-k 4 14.85 3] 1301[# B JZEAC 4 15.78
Bl 4 AH EBX JXEAC 4 15.06 B 4] 1216[MRE B EiEAC 4 15.79
2[5 fEf SfESl  [RCHIAC 4 15.07 2.7 5] 2702[fl Z= SvOES I -k 4 15.80
m|_6 A E— HRJ 4 15.15 m|_6] 52901[ff=E EE HORSRELISICH) 4 15.83
7 BHE Arak Sy ESJ5—h 4 15.22 7| 1216[F0A # BEiEAC 4 16.22
8 | 25 Sy e I5—h 4 15.66 8] 61237 %""}’Eiﬂ e —&IALTRF(R) 4 loen|15.4]
3 1 s fEst RAAC 4 14.94 4] 1] 62601EA B A—=J(R) 4 15.79
2 &l HEAC 4 15.91 2| 2606|&Il =5 FREE_IFR 4 16.02
3 At 58 HRJ 4 16.13 3| 1217[#k EAKER RAAC 4 16.16
Bl 4 hE It ECVEDVI 4 16.15 B 4] 2812|FhN FE =HRIAC 4 16.37
4 5 X & 94X RC 4 16.23 1.9 5] 61916| KB BA E¥RE- R) 4 16.39
m| 6 K A AIFJEE S 4 16.24 m| 6] 1201[3&H RBIR WHEH>1Z7 4 |£516.39
7 =it @i HRJ 4 16.29 7] 1203[AMR Imks HEAC 4 16.43
8 JI% 1:_H§ ZEFKSRC 4 16.38 8| 1216 X LEAC 4 16.44
5[ 1 A B3 RAAC 4 16.22 6] 1| 62601[tBA & A—J(R) 4 15.41
2 iR IEfE UShEKSC 4 16.28 2| 626011 AR A=T(FE 4 16.79
3 NN BE UBHMcKSC 4 16.49 3| 61916[ILF = EFRE—_ 1) 4 16.81
Bl 4 =M IEA HEAC 4 16.56 B[ 4] 1819|=+f BH FULEEFIST 4 17.01
.5 5 =8 ] FULFEEIST 4 16.59 1.8 5] 1216|&0 mE BiEAC 4 17.14
m|[_6 SH R EiEAC 4 16.79 m|_6] 2606[IlL&K #BA EEE_INFR 4 17.41
7 K =7 AIEJEE S 4 16.81 1121 |FH KRB [HR] 4 DNS
8 BE AT UEFIST 4 17.14 61903 [dbAt 8K HOCT1ZT(R) 4 DNS
7 1 SE A JAEAC 4 16.35 8] 1] 1618[AK AR 4 15.86
2 EfE = E¥RE- (R) 4 16.60 2 1228[HlE AR 10015>&5> 4 16.32
3 A 1RE EXS1"7 4 17.13 3] 1201[AF R—EF [REAZ1Z7 4 16.74
Bl 4 A =A JZXEAC 4 17.30 B 4] 1203l HBE HEAC 4 16.88
35 85 2% HEAC 4 17.33 2.1 5] 1819[¥H %% FULBEESIST 4 17.06
m|_6 g Bk HEAC 4 17.46 m|_6] 1301|1ME & JXEAC 4 17.11
7 I =t RAAC 4 17.48 7] 1104|= f&E EEHST 4 17.32
8 %x_@ UBHEKSC 4 17.73 8| 61901[&]1 ELX RET1=7 )4 18.44
o[ 1 i A5 EFRE_ ) 4 16.13 10[_ 1] 61916|H:t S8 E¥he_ R) 4 16.24
2 AN RES UShEKSC 4 16.47 2| 1228[f&l & 10015>&5> 4 16.25
3 = it UBHeKSC 4 16.83 3] 1305|&A& FER UBNEKSC 4 16.77
Bl 4 e =2 AESC 4 16.91 B[ 4] 2815|HEF KRE N=AILZR—Y 4 17.16
0[5 HE & HRJ 4 17.20 2.0 [ 5] 1228[p0ll # 10015>&5> 4 17.33
m|[_6 aE Bid 10015>&5> 4 17.38 m|_6] 1819[fEH EE FULEFIST 4 17.81
7 SKEH #/\ HEAC 4 17.51 7| 61237|MHF B2  |=£WItTaFE) 4 |opn[15.93
8 LU EY EEED 4 17.92 _
1] 1 XE st UBHMeKSC 4 16.77 12 1] 61910KE oKk TanaEE(R) 4 15.80
2 =H Alth FEEPE_/\ER 4 17.24 2| 61910[dtJIl BtEE =aEBEELrR) 4 17.24
3 i S E¥RE- (R) 4 17.45 3| 2702[AA Bz Sy ESI5—-b 4 17.57
Bl 4 A ZEFKSRC 4 17.95 B 4| 61916|EA #FH E¥RE_ ) 4 17.71
0[5 N IEEN Sy ES -k 4 18.00 0.9] 5] 2702| KM EBX Sy ESI5—b 4 18.05
m|_6 Sl {4 10015>&5> 4 19.73 m|_6] 1311|FEHE &HF— ZEFKSRC 4 18.65
Ea)ll FE  [FlpEEIST 4 DNS 7 1605 [¥1 B3k JVAU—bhRwhk 4 18.77
1 X2 s BREa) SARIN—R_ 4 15.77 14 1| 12162 = HiEAC 4 18.02
2 WEX R 4 16.36 2| 61916[#/ll B E¥RE- (R) 4 18.61
3 mEH E EEE_/I\FER 4 17.43 3| 1228[FtS BB 10015>&5> 4 19.15
Bl 4 TE B UShEKSC 4 17.48 B 4] 1216|HF &K EiEAC 4 19.22
.8 5 NREHE E¥RE- (R) 4 17.57 1.7[_5] 1605|/1\&% 1&FE F7AU—bhxryk 4 19.73
m|[_6 ARy 185 UShEKSC 4 17.91 m|_6] 1311[1RF = ZEFKSRC 4 20.15
7 54 |k FEPE_INER 4 18.89 1120898 BERER [ty 4 DNS
5 1 N e R#v17 (R 4 17.15 16| 1| 1311[18H fask ZEFKSRC 4 19.62
2 IR TRME R—T(R) 4 17.31 2| 61916|=H BIE E¥RE- (R) 4 20.63
3 A& E£—BF |[UBHhfeKSC 4 17.38 612378 3% —ZWILTRF(E) 4 |oPN[17.64
Bl 4 =% 38D RAAC 4 17.60 B 61237 &5 X —ZHAETRFG) 4 ]orn[18.00
.50 5 ait EBth ZEFKSRC 4 18.27 2.5 61237 |BA FNE —ZWILTRF(Z) 4 |oPN[18.48
m|_6 BIE Ak REY1=7 (R) 4 18.80 m 61237 K& FHIE — LT8G 4 ]oPn[18.58
7 RH B EEEDvi 4 19.70 61916|54 &= 1E¥RE_ () 4|opn[19.96
= K % g EINE ]
1 KH BE A (&) 4 14.84 +3.2
1 NE = Sy ESIT—k 4 14.84 +3.2
AN [3 B TEl [SvoEsd5-b 4 14.85 +3.2
2 |4 g 5 RAAC 4 14.94 +2.4
b |5 AH EX JREAC 4 15.06 +3.2
8 |6 PEl EfESE  |[RBICHhIAC 4 15.07 +3.2
7 i BE— HRJ 4 15.15 +3.2
8 RE Ik Sy ES 5=k 4 15.22 +3.2
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_ A-FTFEEEMUTF) 100m
LBk
ECHEE = g% £ SCEx iH e &HFS K 2 FIE$ =¥ SUEK
1] 1801|788 T8 RDIAC 3 15.92 2] 1] 1602 AH & RAESRC 3 17.01
2| 1605[ER k& FAU—FRryk 3 15.99 2| 62601|%E T2 A—T(R) 3[=#17.01
3] 2702|7%H k& Sv e U5 —F 3 16.83 3 1200[#EK L& EAT1=F 3 17.34
@4 1217t B ZARAC 3 16.90 B[4 1301|—F %% JAEAC 3 17.58
3.5 5] 1200[H® B& EXT1TY 3 16.93 2.8 5] _1602[HHF =% SRAZESRC 3 17.80
m|_ 6] 1301[XKit FE&E JRAEAC 3 17.08 m| 6| 82701 il &HJ IL—-91-JAC (B 2 17.81
7] 1801k = RICHIAC 2 17.47 7] 61901 /%A % =ES1-7 () 3 17.82
8| 1602[Fath #I[ RAFSRC 3 18.60 8 91303[) :‘gig IEI & 3 17.88
3] 1] 112108 B HRJ 3 17.53 4|1 62601 = #lta A"—J(R) 3 16.21
2] 1311|=H A& ZEFKSRC 3 17.94 2| 61237 tEF LS —XIRILTRFGD 3 17.07
3] _1200[%# &7 EAXT1TY 3 18.11 3| 61237 LK TEGE —SALTeF(R) 3 17.81
‘|4 13018 EE JZEAC 3 18.19 B[ 4] 14014 A BE)lEELr5) 3 18.11
2.3 5] 1200[AF BExR |[BEAT1"F 3 18.35 3.2 5] 1602[EH f#&4 RAZESRC 3 18.20
m|[_6] 1602 EMH W= SAESRC 3 18.48 m[_6] 2702|hi@ B&L&F [Sv oI5k 3 18.31
7] 61901 {Eﬁ%mﬁ?ﬂ =HI1-7 (2 3 18.51 7 1311=3% B8 ZFFKSRC 3 18.55
81200 3 ES1-7 3 19.20 8| 1602 [AFE 7 %Z}%SRC 3 18.70
5|_1] 1104|% B4 B%'EE'B? 3 18.09 6 1] 120i0%m 5 % WHS1=7 3 17.92
2] 1401|EN Sk BE)lE=ELr5) 3 18.49 2] 6190358 =R FPCS1-7 () 3 18.54
3 1301 =13 JZAEAC 2 18.51 3 1301|HF &&x JXEAC 3 18.97
‘|4l 130115 BE JZEAC 2 18.74 @ 4] 1121[F3E Fir HRJ 2 19.23
1.3[_5| 61901 |H&F &34 =ET1=7 (=) 3 18.79 1.5[ 5] 1311[FBAK ®»Ia  |REFKSRC 3 19.55
m[_6] 16024 EX SAESRC 3 19.02 m|[_6] 1602[FiH Fhs SAESRC 3 19.58
7] 1217[NI BS ZAAC 3 19.21 1602|[5H = SRAESRC 3 DNS
7] 1] 1301|48 w4t |IXEAC 2 18.71 8| 1| 1J01|%.f A= REH>1_) 3 18.46
2] 1201[&k 2R WHI1=7 2 19.18 2] 1602|EH <34 SRAESRC 3 18.97
3 1602[=4 HpiE SAZESRC 3 19.28 3] 61916[#@H J7 EFRE=- 0 3 19.12
B[ 4] 1605[XI5 E= FAU—hRyE 3 19.32 B[ 4] 6191658 mH EFRE— GO 3 19.40
1.8[ 5| 61903[E& & HPCS1-7(R) 3 19.62 2.6]_5]_ _1602[HE ¥ SRAZESRC 3 19.77
m|[_6] 1301[HE #¥ JZEAC 3 19.62 m[_6] _ 1104[fEA =i BEESSJ 3 20.38
1523|ARH & AZSC 2 DNS 7] 52901[RA%E WERk HORSIRELEITIGH) 2 20.50
9] 1| 1615/ F =R JRCHITS 3 18.48 10[_1] 2812 K/l #kF =IAC 2 18.77
2] 1217[8AH A& RAAC 3 18.79 2] 1201 A &k WHT1=) 2 20.06
3 121758 B% FAAC 3 19.48 3 2702|AH mE Svo e I5—F_3 20.36
| 4] 61237[lLE #&K —SIALTRFGD) 2 19.79 B[ 4] 619161k X2 EFRE- 0 1 21.16
0.4 5] 1217[BA f4x ZAAC 3 20.44 2.7 5] 1311[)IIB§ =ik ZFFKSRC 1 21.96
m|[_6] _1602|&H s RAESRC 3 20.70 m|[_6] 1311[EE = ZFFKSRC 1 25.16
7] 13117/l X0t ZZEFKSRC 2 20.82 1120[FE B8 e 3 DNS




KRR 5 2@ EE$% 2 RESULT20170514

- A-TVBFGBELEMUTF) 100m
LBk
| fH | )8 | = FIEA E SOER $HO1IE | BwS % é ES 3 SOER
1] 1104|HR 3 BEFI57 2 15.55 2 1] 2702[%EH £S5 SvoE DT —K 2 16.81
2] 2702|FF B SvoESJ5—h 3 15.73 2| 1615|F¥ EBX JRCH(FH 3 16.89
3| 15237k Bl AZSC 2 15.75 3] 1615[8K 158 JRCH(F5 3 16.90
B 4] 2702|FE& %ih Sy ESJ5—h 3 15.93 | 4] 1801[%iE EFH] RITHIAC 2 16.96
1.4 5] 2702[dbll & SvIELIF -k 2 16.25 2.3[ 5] 91303 &# &EA ILF-911 (&) 2 17.22
m|_ 6] 1311|fkMA #BHl ZZEFKSRC 2 16.47 m|_ 6] 2702|RE &t SvoESJ5—h 3 17.58
7] 2702|BR &g Sy ES -k 2 16.68 7| 61901[FRHE BHEH RET1—7 (R) 3 17.61
8|  2702[iA ERy Sy e g5-F 3 18.26 8|  1311[JIF WEA ZEFKSRC 2 17.75
3 1] 1311[IEs BEE ZZEFKSRC 3 17.00 4| 1] 61910|5FH HEE TamsEL(R) 3 17.11
2| 61237/1\¥¥ &0 —SBIETRFG) 3 17.04 2] 1201[45%F [F4E WRH>1=7 3 17.13
3] 2702|BA& E£E SvIELIF -k 2 17.18 3] 61910[|EEFH BBRL TAEBEELER) 3 17.17
Bl 4 12170 B&X FRAAC 2 17.47 B 4] 62601[pME Z H"—TR) 3 17.47
3.2 5| 1104|AF mF FEEH5T 3 17.74 2.0 5] 1121[@EA &IA HRJ 2 17.85
m[ 6] 1200/ EB2E [EXS1TT 3 17.80 m|_ 6| 1217|HiH FEis RAAC 2 17.92
7] 1311[EA Bi— ZZEFKSRC 3 18.51 7] 61910[fREE R FaEBEELER) 3 18.56
1801 (/8 [FE AICDIAC 3 DNS 8] 61910|& B EaEEEIGR) 3 25.74
5 1] 1705[fEk Ihs BREEY SARUN—R_ 3 17.28 6| 1] 1201[%#% %= WH>1=7 3 15.98
2| 2812|Zkm &3] =HEIAC 2 17.59 2| 2812[B70 BE SHEIAC 3 17.89
3] 2815|4AtE #BX R=FILZHR—Y 3 17.66 3] 1311[E# A& ZZEFKSRC 2 18.33
B 4] 1121]E15 Iht HRJ 3 18.01 B 4] 1311k &R ZZEFKSRC 3 18.58
2.6 5] 1201[KE KFE RE>1=T 2 18.32 2.0 5] 1201[@iH Z&® WH>1=7 2 18.63
m| 6] 1120[#1H E— L ESi 2 18.36 m|[_6] 1104[tEIE = EFI57 2 18.67
7] 31101|3EH BE ZOACAC(FD) 2 18.57 7] 2702|E8 ‘N SvIELI5 -k 3 18.74
8] 1605[/Jvth EEs] F7A)—pxwph 3 18.90 8| 2702/ kA% BE Sy 5K 3 20.12
71 1| 61237 0EE #A | —&WtT&rGn) 3 17.72 8| 1] 1301[)RH #&n= JREAC 3 17.70
2] 1311|BH &% ZZEFKSRC 2 18.59 2| 2812|ElE k& SHEIAC 3 17.81
3] 2812[ZH &® =HRIAC 2 18.94 3| 61237|51& HA —EWRIETRFG) 3 17.98
B 4| 61901|Fm XKZE =#T1=7 () 3 19.59 B 4] 61237|HHT —EZRIET&FG) 3 18.58
0.6] 5| 2702[JI #&E SvIELIF -k 2 19.65 1.1 5] 2812|E#A & =HRIAC 3 19.51
m| 6] 61903[fk4K BE [#PCT1=7(F) 2 19.88 m|_6] 61901 [FH =X HI1T7 (R) 2 20.23
7] 1605[F& BE FAU—hryh 2 20.13 7] 1615[8%AK B/ JRCH(FH 1 [£#920.23
2815[/NH &1 F=FIAR=Y 2 DNS 8l 112111 B HRJ 2 20.30
9] 1| 61237|EIL J5—F8 |—&WJtTeF() 3 17.39 10 1| 2702[H #HME SvoEo DT - 2 18.79
2| 1311[EX ST ZZEFKSRC 2 18.69 2| 6123751 EX —EZRIT&FG) 3 18.99
3] 1301|FF EfE JXREAC 2 19.55 3] 2812[BW = =HRIAC 1 20.05
B 4] 1301[AEKE X JREAC 3 20.93 B 4] 1311|5% Hhor  [3XFFKSRC 2 21.07
3.0 5] 1104[&H BZBh [FEEHST 2 21.05 3.1 5] 1819[iEH WEE SuliPEFSS5T 2 21.08
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71121100 Bk HRJ-5A 5:{2 1615|8& E4L1TE JRCH(F5 52
1| 71121|81 ¥ HRJ-5A 5:3 2 1615| L8 =3 JRCH(FS 5:3
71121| =8 Pk HRJ-5A 5{4] 1.04.51 1615|#hx P& JRCH(F5 5{4| 1.07.64
71228 | AT METE 10013>&3> 5i1 71301 % EX JAEAC-5B 5i1
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71228|)118F 52 100152 &35>-A 6} 3 71120(1Ef B4 Zhx+vfB  6i 3
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1| 71305V (2tH UBHEKSC-A 6 3 2 | 71305|FFE =K UBHMEKSC-B 6i 3
71305|%8 & UBHEKSC-A 64| 55.60 71305 |5/ 18 UBHEKSC-B 6i 4| 58.05
712015k HitE WHY1Z76A 6 1 71121/ KZ& HRJ-6B 6:1
71201 |F0O RiT WRAEY 1276A 6 2 71121 [i&ERE K8 HRJ-6B 62
3| 71201 |8H 1A WRHEY 1276A 6 3 4 | 711212 B& HRJ-6B 6:3
71201 |f&f&R BE WHEY 1Z76A 6. 4| 58.82 71121[@K 2= HRJ-6B 6:4| 58.89
2
71217 MRiE *®AAC-6B 61 2606[/2H $hiR :%ﬁﬂﬁ'é:d\?& 6:1
# 71217|=% & ZAAC-6B 62 2606| 1Lk Bh TINER 652
5| 71217 )#’fﬂ FRE |&RAKAC-6B 6 3 6 2606 |/ \HE EX B% INERR 513
7121710 #k ZAAC—6B 5i 4| 5899 2606 |¥TH R E.B% INERE 61 4| 59.30
261903 K# BBR HFPCT1TFAGR) 5! 1 71104|XB =+ FEEI57B 6.1 DO
261903 | kH = HOTTIZTAR) 6 2 71104 |HE =35 FEE/57B 6:2 2-3
7 (261903 |FH —= FOCTITFAGR) 61 3 8 | 71104|FA& fEA [EF/57B 6: 3| 5mOver
261903 (L {5 HPITIZFAGY) 5i 4| 1.00.28 71104|E@ &4 FEE/57B 64| (58.66)
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72702|TE7XH FEFH |SvoESIS5-PA 611 261916 |t8H =} EZRE_6A (R 6 1
72702 |fE 1EX SvIEI5-M 61 2 261916 |1kfE = EFRE_6A (R 6 2
1| 72702|F8 #h4aR SvIES IS - 61 3 2 [261916|2L BKER EXRE_6A () 6 3
72702 |2H IR |SvoEPS-bA 6 4 56.42 261916 A E¥RE_6A (R) 6 4 59.87
71311 pE=t HYKSRC 61 71121 [(1BF &KX HRJ-6C 6i1
71311|=% %?IE B¥KSRC 6:2 71121 |84 K HRJ-6C 62
3| 71311|=@# Z= BYKSRC 6:3 4 | 71121 |K5 k& HRJ-6C 63
71311))110 ﬁSEEE ZEFKSRC 6: 4| 1.00.03 711218 ¥ HRJ-6C 6i 4| 1.00.70
3
261901 |BEH 1B RET1=7-A 6 1 7121654 T AL [ATEAC-B 61
B 261901 |IlLK E% RET1Z7-A 6i 2 71216|=24& KX F1BAC-B 6i2
5 (261901 |faH =& REPT1Z7-A 6i 3 6 | 71216|fM®R X F1EAC-B 63
261901518 EH RE>1Z7-A 61 4| 1.01.00 71216|88 BX F1BAC-B 6i4| 1.01.35
71305 (%4 EfE UBhKSC-C 6i 1 71104[H% &Ex FEE/37C 6:1
71305|E%F &5ABR |UBHEKSC-C 6 2 71104|@E% HEE  |PEEISTIC 5:2
7 | 71305|2H [EXEF |UBsHMeKSC-C 6: 3 8 | 71104)BT =&/ FEEHSIC 6:3
71305|8JIl ¥ USNMcKSC-C 64| 1.01.39 71104|=% #E FEE/HSIC 5:4| 1.01.78
261916|Xi8 125k E¥REE—_68 (0 6 1 71305/ M1 wEfg UBHzKSC-D 6 1
261916 LA &BE EFREZ6B () 6 2 71305 (B0 BEA  |UBHEKSC-D 6} 2
1 |261916|2H i E¥RE—6B () 6 3 2 | 71305|/K#E FBEA USHMeEKSC-D 6i 3
261916 (#21L FE E¥RE—68 (%) 6 4| 1.00.90 71305|)1IEME A |UBHzKSC-D 6 4| 1.00.98
7122817 BR 10015>&35> 61 72702[3kI11 138k SvE2J)5—-MB 511
7122801l #E 10015>&3> 6: 2 72702| LB BA SvIEI5-MB 58 2
3| 71228|FEH FE 100132 &3> 6: 3 4 | 72702\ &E SvoEYIF-MB 51 3
71228|/\iz 10015>&35> 6: 4| 1.01.38 72702|Z 1l JEAXRER  |Sv P54 -MB 61 4| 1.04.28
4
2619016|5fE == E¥RE—6C ) 6 1 261910[4b)Il =5 FaWEEEAR) 611 DO
*B 261916 | BEE BERE_6C (N 6 2 261910|FAK BEff FAEBELAG) 61 2 1-2
5 (261916 |EH * E¥RE_6C (R) 6 3 6 [261910|=4F #&EZE= FaEmEEAR) 50 3| 2mOver
261916 [#iH IEE E¥RE—6C (% 6 4| 1.10.82 261910|/hE M= FaWBEEAG®R) 5 4| (1.01.73)
71216 E% BA F1EAC-C 5
71216|&K BE FiBAC-C 5
71216|EF j==b F1EAC-C 6
71216|F/ BUS F1BAC-C 6 DNS
A= A=
g | T/ES E £ E& F5 - FOER 5| FES K % PiE& F-| iR
71801 ZH & RICHIAC 6 1 71104/NL FiE EEI5JA 6 1
1| 71801|AY 24P 9F1UHIRICHIAC 6 2 2| 71104 ﬁﬁ?j‘é 1&E FEEISTA 6 2
71801 |db)1l & RITHIAC 6 3 54.81 71104|>Y> 81T FEEISTA 6 3 55.51
71801 |BR &% RICHIAC 6 4 71104|>Y> 8 FEEISTA 6 4
713053 #0&k UBHEKSC-A 6 1 71121 (1lLx &3 HRJ-6A 6 1
3 | 71305|H/K EKEA |[UBHzKSC-A 6 2 4 | 71121|5%K EX HRJ-6A 6 2
~N 71305211 12t UBHEKSC-A 6 3 55.60 71121 |=:2 g8 HRJI-6A 6 3 55.61
A 7130548 & USHEKSC-A 6 4 71121750 #E& HRJ-6A 6 4
b 72702|I€7<H EH [SvoESH5-PA 6 1 71216|=FPE XA F1BAC-A 6 1
8 5 | 72702#¥@ AKX SvOES G- 6 2 6 | 712164+ BE FEAC-A 6 2
72702|B8 #h4aR SvIESIS-M 6 3 56.42 71216|&EH FKX F1BAC-A 6 3 56.47
72702 | 2H ¥EdE  [SvoE 5 -bA 6 4 71216 |{F#E X FIEAC-A 5 4
91303 |=H &HE IF-911 () 6 1 71301 (@0l =3 JXEAC-A 6 1
7 | 91303|:KH =% IF-911 () 6 2 8 | 71301|Axk HMIABE |[JIXEAC-A 6 2
91303 |14 #=} IF-911 () 6 3 56.69 71301 |F1H IRE JXEAC-A 6 3 57.02
91303 {818 KPE IF-U4 () 5 4 71301 |EE EXS) JREAC-A 5 4
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Eﬂﬁﬁ
No. ¥ A- No. F| A=
#olE| p-p K& FiE F5 - R NE | p-p° K& FilE g5 5%
91303 |AAT EF I+ () 41 261901 | KXfh IBE REPZ1Z7-C 4i 1
91303/l ErE IF-011 () 4% 2 261901 | RE =IB REPT1Z7-C 42
1| 91303|lUA Fx IF-v1 () 4 3 2 (261901 (LA BE REPT1Z7-C 4 3
91303 |A/H 2 IF-0114 () 4i 4| 1.00.64 261901518 BFE R#E#PT1=7-C 44| 1.01.17
72702 | LB EX SvIES TN 411 71121 | X% =4 HRJ-4A 4:1
72702 | KAR 2 SvIEIHT -~ 412 71121 |&F)I TR HRJ-4A 4: 2
3 72702 |1LK FE SvIEI -~ 48 3 4 71121 |EE % HRJ-4A 4:3
72702 |'B8F % SvIEYHF - 4 4| 1.04.99 71121 | =M BR HRJ-4A 4: 4] 1.05.21
1
261901 | EAR =X |R#E>1=7-D 4. 1 2606 (3TH B FEPE/INER 411 DO
bzl 261901 |¥FH Bl RE1Z7-D 4i 2 2606 |t L& FEPEINER 41 2 3-4
5 (261901 |kt BAAX REPT1Z7-D 4: 3 6 2606 |BH B& FEPE_/ER 41 3| 3mOver
261901 |25 LRI RE>1Z7-D 4i 4| 1.06.16 2606 |fAR EE FEPE/NER 41 4(91.11.23
71201 |85 EEHB IREY"1Z74A 4i 1 71305| 7~ BR{K UBHEKSC-4A 4i 1
71201 | X8l BTy |[REY 1Z74A 4 2 71305|%5/0 1@ UBHNEKSC-4A 4% 2
1 71201 | AT B3R WHY 1274A 4 3 2 71305 |%& W UBHEKSC-4A 4 3
71201 |=H oon WHEY 1274A 4: 4| 1.07.39 71305\ FER UBMeKSC-4A 41 4| 1.09.72
71702 HI4E (|BM7vIIL4 401 716027 BE RAE-4A 4: 1
71702|1A FEMTYII4 42 71602|At B4k RAE-—4A 412
3| 71702|=48 0= EMPvIIL4e 43 4 | 71602|B= fhiE RAE-4A 4: 3
71702 | AR ¥& RV 4 4: 4| 1.09.73 71602 |LHE #1x RKE-4A 4: 41| 1.12.97
2
261916(H8O 03 EZRE—4A () 4
B 261916 |7 DI EERE=4A ) 4
261916 |3ME Z=F8 E2RE=4A ) 4
261916 |AH & EERETAA ) 4 DNS
A= A=
g | TS K & E& F5 - R g | FES K % E& F5 - R
91303 AN = IF-1 () 4 1 261901| KX IBE REPT1Z7-C 4 1
1| 91303|mJIl EmE\ IF-01 () 4 2 2 (261901 | KR &2 R#PZ1=7-C 4 2
91303 |IUA Fizx IF-911 () 4 3 1.00.64 261901 |IlLK BE REPT1Z7-C 4 3 1.01.17
91303 |#H & IF-01 () 4 4 261901515 BAE R#PZ1T7-C 4 4
72702 | &2/ EX SvIESHT-h 4 1 71121 | K% = HRJ-4A 4 1
3 72702| KAR 2 SvIEI -~ 4 2 4 71121|F%F/I| #BEE HRJ-4A 4 2
~N 72702 |1lLAK FE SvIEYHT -~ 4 3 1.04.99 71121 |88 % HRJ-4A 4 3 1.05.21
A 72702 |7E%F B3 SvoE TN 4 4 71121 |5HE BH HRJ-4A 4 4
b 261901 | EAMR =X |[REZ1Z7-D 4 1 71201 |9%F EEHP WHY 1274A 4 1
8 5 (261901 |¥¥H E.» RE1Z7-D 4 2 6 | 71201| XK@l X7y |[REY 1274A 4 2
261901 | K& ®BA4 R#P1Z7-D 4 3 1.06.16 71201 | AL BR WHY 1274A 4 3 1.07.39
261901 #2858 EKI& RE1Z7-D 4 4 71201 |EH ooh WHY 1Z74A 4 4
71305|7xEx BAMK UBNEKSC-4A 4 1 71702[E#k #IRE [RM7YIIL4 4 1
7 | 71305|Z58%E A UBHMzKSC-4A 4 2 8 | 71702|#&K 2 RMTYIIN4 4 2
71305|&%& #EF UBHEKSC-4A 4 3 1.09.72 71702 | =48 #= SBMPYIIL4 4 3 1.09.73
71305|MF FEZ USHEKSC-4A 4 4 71702 | AR & SEMIvIIL4 4 4
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No. ¥ A- No. F| A=
oNE] p-p K& FiE 5 - SCE% Mg | h-p" K& FilE F15" SCE%
71121 |5H &l HRJ-4A 41 261916| X8 EX EFRE_4A (0 4 1
71121 |\ FfE B— HRJ-4A 4: 2 261916 |1EE = EBYRE—4A () 4 2
1| 71121[Kih #hiE HRIJ-4A 4: 3 2 |261916|1kfE £k EEREETIA ) 4 3
7112110 REFR  [HRI-4A 4: 4| 1.04.45 261916 |MHEt &Hi BEREZ4A R 4:i 4| 1.04.46
71216|50 mME F1EAC-D 4: 1 71203 |E4 AKX HIEAC(A) 4i1
71216 | B F1BAC-D 4: 2 71203158 E HIEAC(A)Y 4:2
3| 71216(5H A F1EAC-D 4: 3 4 | 71203|#k &I HIEAC(A) 4: 3
71216|F0H &t F1BAC-D 4: 4| 1.05.35 71203 | AR ImtE HEAC(A) 4:4]| 1.05.47
1
2606 |IlLUAK 18K FEPE_/NER 411 71203|)II'F RE HIEAC(B) 4:i1
bzl 2606|B1L =5 FEPE_NNER 4. 2 71203 |1&fE Bhk HIEAC(B) 4:2
5 2606 |[H =& FEPE_/INER 4 3 6 | 71203|B1E 2% HIZEAC(B) 4:3
2606|=H Kitt FESE—/IER 41 4| 1.08.08 71203 |kH F\ HEAC(B) 4:4]| 1.09.20
0
261916[ILTF & Ex¥RE—48 () 4! 1 72702[3t)ll B SvIEVIT—-MA 41 2 DQ
261916 |%B#E H= EFRE_4B (R 4i 2 727021 B T [SvoESIY-PA 414 2-3
7 |261916|/\R {24 E2RE=48 ) 4 3 8 | 72702 |#E HEZK Sy e )45 —-MA 41 3 |1.5mShort
261916 |41 248 E¥RE—48 ) 4: 4| 1.11.57 72702 |/NEE TR SvoEYI5-M 41 |(1.01.84)
71301 |18 & JXEAC-4A 41 72702[E 18Z= SvELI)5-MB 41 1
71301 |F0H &K JXEAC-4A 42 72702| KM &R Sv e 5—-MB 41 3
1| 71301 (% ZE& JXEAC-4A 4.3 2 | 72702| KA BBX Sy e 5B 4 2
71301 |KHE &KX JXEAC-4A 4 4| 1.05.93 72702 |l 2K SvE>I5-MB 41 4| 1.07.89
1819[¥H Rt AFEESST 41 3 26123784 FE ZHRITRF-AGR) 41 1
1819 |¥EH R FLBEESST 401 261237 |&R5N #E ZHRIBILTRF-AR) 4 2
3 1819|= L B FLBEESST 482 4 |261237|f15 * CHRWALTEF-AR) 41 3
1819 |85 EE7LAY|LELSST 4 4| 1.09.61 261237 |3 BEZN  |=HRETeFAR) 40 4| 1.10.43
2
71120|=E 1 sy ey 4:1 71217 | S TAAC—4A 41 DO
*B 71120|lLEA EF Ly E=y) 4: 2 71217| ENII ES RAAC-4A 4: 4 3-4
5| 71120|%M@ 5k 24y 4i3 6 | 71217|%%5 #5) ZAAC—4A 4 2| 10mOver
71120|4% &4 EhixtyS 4: 4| 1.13.17 71217 |#k EXER ZAAC—4A 4i3|(1.04.56)
713058 185 UBHEKSC-4A 411 DO 71305|&K (3@ UsHEKSC-4B 4
71305|H5 #1- UBHEKSC-4A 4] 2 3-4 71305 |iRiE IEHE USHzKSC-4B 4
7 | 71305|=AK HA&R USHEKSC-4A 4i 3| 10mOver 71305\ K8 1Bt UBHzZKSC-4B 4
71305|F%E #Et USHzKSC-4A 4i 4(1.09.64) 71305(/11%F #5& USHMzKSC-4B 4 DNS
A= A=
g | FT/EES K & E& F5 - R g | FES K % PiES& F-| iR
71121 &5 & HRJ-4A 4 1 261916 K8 BA EERE—4A (0 4 1
1| 71121 |Km@ B— HRJ-4A 4 2 2 [261916|iEH = EERE=4A D 4 2
71121|Kith iEE HRJI-4A 4 3 1.04.45 261916 |1kE 3 E¥RE=4A D 4 3| 1.04.46
7112110 WEFR  |HRI-4A 4 4 261916|MHEt Eth EEREZ4A R 4 4
71216|a60 mME F1BAC-D 4 1 71203 |&#/ X HIEAC(A) 4 1
3| 71216|MR8 EH F1EAC-D 4 2 4 | 71203558 & HEACA) 4 2
~N 71216|5H AR ATEAC-D 4 3 1.05.35 71203 |#k &l BHEAC(A) 4 3| 1.05.47
A 71216 |F0H 4 BiEAC-D 4 4 71203 | AR ItE HEACAY 4 4
b 71301 |16 &8 JXEAC-4A 4 1 72702[EI B2 Sv 95— 4 1
8 | 5| 71301 |31H &KX JZEAC-4A 4 2 6 | 72702| KM BX Sv e 5B 4 2
71301 |#k £k JAEAC-4A 4 3 1.05.93 72702 | KM &R SvoEYI5-MB 4 3 1.07.89
71301 |KRH EX JZXEAC-4A 4 4 72702[#L1l 2B SvELI)S—MB 4 4
2606|IlLUA 8K FEEPEZIER 4 1 71203(/II'F #RE HIEAC(B) 4 1
7 2606 |E1L =th FEPE_NNER 4 2 8 | 71203|fkE BEhX HEAC(B) 4 2
2606 |[EH F& FEEPEZIER 4 3 1.08.08 71203 | R HIEZEAC(B) 4 3 1.09.20
2606 | =M Kith EEE_NER 4 4 71203 5kH F\ BEFEAC(BY 4 4
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No. ¥ A- No. F| A=
oNE ] p-p K& FiE F15" - SCE% Mg | p-p" K& FilE F5 - SCE%
261901 KL 02 REFZ1Z7-B 6i 1 71203 |IUK &= HIEAC 5i1
261901 %A #i&E R#T1=7-B 5 2 71203 |14 BAs HEAC 62
1 | 261901|AIH MDA R#PZ1Z7-B 6i 3 2 | 71203|giH 1= HIEAC 4: 3
261901 |EAR #F R#T1=7-B 5 4| 1.02.05 71203 |kH BEE HEAC 64| 1.04.19
91303 &K &Y EF-—9 (& 4 1 261901 [*FE &A WEPbU1=r-E 5. 1
91303|MN&EZE H |IF—1 &) 42 261901 |MA EHZE REPT1=F-E 5i2
3| 91303|#\H kB IF-v11 () 4 3 4 | 261901 |18 BHf W#T1Z7-E 53
91303|/)I| B IF-911 () 31 4| 1.06.52 261901 |l =% R#T1-7-E 61 4| 1.06.85
1
261901 |FH &R RES1-/-F 4 1 71311 IIK BEx ZEFKSRC 6: 1
#H 261901 3T #AAE RET1=7-F 4 2 71311 |[EX F= ZEFKSRC 6i2
5 261901 |HIEH &390 | REBT1Z7-F 4 3 6 | 71311|= B ZEFKSRC 3.3
261901 (%A 5 R#T1=7-F 3 4| 1.09.66 71311 K H¥E  |ZEFKSRC 34| 1.10.18
261903 [;FH E£T HOTTIZIC(R) 41 1 261903 |=& BHR #PZTIZTB(R) 4
261903 |EH I HPZTIZTC(R) 4 2 261903 |&)I| #& HPZTIZTB(R) 5
7 | 261903 |58 =R #HOCT1Z7C(R) 31 3 261903 |4t #H< HOCT1TB(R) 6
261903 |0 & HPTT1=7C(R) 34| 1.13.95 26190332 TE #HOZT1Z7B(R) 5 DNS
1605 |1 =5 FAJ- RN 411 71200 |84 = EAS1-7A 4 1
1605|EH EEER |7AU-bxryh 42 71200|8TF 2x& BARTI1ZTA 52
1 1605|XIE B FAY—hryh 313 2 | 71200|&0 BE EART1Z7A 5 3
1605|ER W& FA)-rxyhk 314 1.10.87 71200 | H=ZE |BEARTD1ZFA 4 4| 1.10.99
71216|IR5E =T FHTEAC-B 6 1 71121|EHS % HRJ-4B 371
71216|# F P& FEAC-B 4i2 71121 |58 #3 HRJ-4B 4:2
3| 71216|KTF E3R FHIEAC-B 5:3 4 | 711215I0O OE HRJ-4B 4:3
71216|AH FEAC-B 4141 1.13.20 71121 |88 FF HRJ-4B 24| 1.13.68
2
0
261910|AE EX= FamEELB(R) 6 1 71301 | At RE JXEAC-3A 31
*B 261910|%% A %/DWMK*IB(R) 6:i2 71301 (=& ZR JAEAC-3A 3i2
5 |261910|F9H #%F FREEELBE) 4 3 71301|8 B8 JZEAC-3A 3:3
261910(HEHE $HR FEWBELB(R) 51 4| 1.23.67 71301 )85 pmzd JXEAC-3A 4 4 DNF
1618|&E A& D= 5:1 71801 |%&E TP RTHIAC 3
1618 |8kt FHiE Parz [=1] 4:2 71801 |EA RRfE RITHIAC 6
1618|FIl FTE Pz p=z ] 6:3 71801 .—J7t< % RICHIAC 2
1618|k%& KKEPF |XBAAR 4: 4 DNF 71801 |&2 1Bt RITHIAC 5 DNS
71104BH 2= =758 61 1 72812 | &R =& EWIAC 6 1
71104|R BxRF EEI5JB 5.2 72812 |ER TEI15 SHRIAC 6i2
1| 71104|ZR #&7 EES57B 5 3 2 | 72812|EM &% EHIIAC 4:3
71104 |5 #1% EE75JB 3 4| 1.08.99 72812 | Kl FitF BHRIAC 21 4| 1.09.00
71217|/NIT B ZAAC—OPA 41 72702 GH ME Sy ESHT-N 301
71217 |HEFE <{BH ZARAC—OPA 4 2 72702|E E4F |SvIESs - 312
3| 71217|%R%F ¥R ZAAC—OPA 43 4 | 72702|7E DEE SyIEVHS -~ 313
71217/ B FAAC-OPA 3: 4| 1.09.76 72702|=IF (338 |y E05-b 61 4| 1.12.23
3
71602|@E #2F0 RRAXE-3A 3.1 71602|EH &4k SAE-3B 3.1
A 71602|AH & R]AE-3A 32 71602 |14 2z RAE-3B 32
5| 71602| LM b= RAE-3A 33 6 | 71602|fRE #&H SAE-3B 3.3
71602 |t =z RAE-3A 34| 1.13.05 71602 |H1H 5 RAE-3B 34| 1.16.10
71602 |28 ZZTE RKE-D 5
71602 |RH 12 RAE-D 5
71602182 E RAE-D 4
71602 |AH & RAE-D 3 DNS
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7120048 1=+ EAS1-/B 3:1 261237 |1k IBEE ZHRILTRF-AG)  3i 1
71200 /0K (OE BAR>1-7B 3:2 261237 |1k HEZE ZHIALTRF-A(R) 4 2
71200 (HT KBE EAX>1Z7B 33 261237 ;8 OdE CRIALTEF-AGR) 31 3
71200\ AT EExE |BAT1Z7B 3:4| 1.10.96 261237 |x=H —1E ZEALTRF-AR) 4 4| 1.11.36
71201 |#6H 2 WHA>1=70A 31 71217|#8@ = ZAAC-OPB 3i1
71201 | 8B WH>1Z70A 4: 2 712175 = RARAC-OPB 3:2
71201|%5t BRA% WHT1=70A 33 71217 |51 #Ux RKARAC-OPB 3: 3
71201|81HE BAERZ%E |WAE>21Z70A 5: 4| 1.13.69 71217 |#8K f51x RARAC-OPB 3:4| 1.16.36
4
71301|)11¥F BREE JAEAC-3B 2i1 71602 | &K HiE RKZE-3C 3i1
B 71301 @B BE JAEAC-3B 3:2 71602 |EH <3# RAKE-3C 3i2
71301 |H Lt HF JAEAC-3B 3: 3 71602 | LFE RKE-3C 3:3
71301 | FEiE JAEAC-3B 2: 4| 1.16.93 71602 |5H #5 RAKE-3C 3:4| 1.19.85
71120(|atk BHE  [BhFvT 5
71120|1FH+ XidéE |BhRFvS 4
71120|#0H 99 ZthxtyS 4
71120|9 5 BF 2ty S 3 DNS
1618|:=E A= FEBHER 5{1 71216|1x5E =8t FIEAC-B 6:i1
1618|E4t HEE b =1 4: 2 71216|/ L Ji&E F1BAC-B 4: 2
1618|F)Il FEZE btz I=1E) 6:3 71216|KTF 2R F1EAC-B 5:{3
1618| k% KXEFF |JBAEME 4: 4| 1.09.73 71216|M% #5X F18AC-B 4: 4| 1.11.53
71301|X3dt RE JAEAC-3A 31
71301 |=f% Zh JXEAC-3A 32
71301 |8 1BE JAEAC-3A 3:3
71301 (/1|55 pREL JXEAC-3A 4 4| 1.11.80
5
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No. F| A= No. F| A=
#olE| p-p K& FiE F5 - R NE | p-p° K& FilE g5 5%
160531 BEi FA)-Rryk 411 71801 (frgf EpgE=l [R(CNDIAC 4i1
1605|H E EE VA)—hryk  5i2 71801 |z 4Es) RICHIAC 5:{2
1 1605 |HH F1E FVAU—-hryh  6i 3 2 | 71801 |H* &EX RCHIAC 5:3
1605|GJll (O FA)-rryk  6: 4| 1.01.15 71801 |@H 3 RICHIAC 5:4| 1.02.90
71104 |&FWL #IK FEFES5JD 5:1 71121|=8 XK HRJ-5B 5i1
71104 | AR Tof EEY5JD 5i{2 71121 |81l Z;|=&E HRJ-5B 5i{2
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